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"910 32199 R2IRT X297 — Where there are stakes, etc.

Overview

The mwn in PAY quotes a NP between 1327 139X °27 in the case of a
7¥n, whose wall, separating it from the 7"77, collapsed, thus exposing the
7xn, which was originally a °"77, to the 9"77. X"9 maintains that the area of
the collapsed wall has the status of a 7"777, while the 7127 maintain that this
area has the status of a n°om12. The XX concludes that the basis of their
nPonn is whether °»7 1"775 2"77 078, the opinion of X", or X? 7"70 7
m7 7"772, the opinion of the 1127. The area of the collapsed wall is
considered 1"77 *7X, meaning that people do not ordinarily traverse there,
unless the 7"777 is crowded.

79D (zwn x,7x pavy) DA 99 PB3 729m — This' is not understandable; for in
Max 9 pap, the X asks;

RRHYT 29297 nwn 732 M9e? — let them (73271 T13°9% M) argue about 7X
9'"'779 in general,

739DIW 93172 990D SRPRY w1D — the explanation of this question is: why do

they argue in the specific case of a 921 whose wall collapsed, exposing the
7% to the 7", when they can have the same argument in a more general sense, about 7%
Xy 1",

RO 93995 77 o8 3wy — and the X3 answers: If they would argue about
7"77 *7X in general

79%Y 129 93995 92 R1BX 717 — I would have said when do the 3327 argue
with ~1y°%% "7, and maintain that *»7 2"7779 %> °"77 07

D151 R2ORT X297 999 %377 — only where there are 55121, which separate the
area on one side of the *9°11 from the 2"717, thereby rendering that area a n*5173

Y7 BEon ROW9T K37 AR — but in a case where there are no “swon
separating the 7"777 °7¥ from the 7"717, the 713127 would admit to X" that 2"77>7%
7 7"02

T ynwn 8p — the 71wn teaches us, by having their 791w 2¥ma npYban that even
when there are no *919°17 the 1127 still maintain that *»7 n°71732,

DD RDINT2 V9D M1 MYR 297 yuwn — this answer of the X723 there,
implies that 27y"5X 529 argues also when there are 5212°1. The thrust of the
explanation there is, that if they would argue by 7"77 >7¥ in general, I may have thought
that they argue only in a case where there are *919°17, therefore the mwn teaches us that
they argue also where there are no *912’1. We may deduce from this, that they certainly

" The assumption that we are not aware of s'X"3 opinion in a case where *919°11 X2°X, and he may hold that it
is 7 N¥onI23.
? Which indicates that it has nothing to do with *2°n.
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argue where there are S:507, (the 7wn seems to teach us only, that they argue also when
there are no *919°17). N90N asks how can the X713 state that perhaps where there are ,’919°1
X" agrees that 17 1"1775 X7 7"177 °7%, when the entire thrust of the X773 in 217°Y seems to
imply that the main np 2 is when there are *99°1.

mBDIN answers:
399D RP1T 951097 RDIPT K277 2 YRR RP ARP 577 210 @O — we can say,
this is what the X713 in 1°217°Y meant to say; that by stating their np17r7 in a
7¥701w 1¥n specifically, and not by 1"77 >7X in general, the 71wn teaches us
that they argue only in a case where there are no 211

STYYHR 927 77N 951991 R2ORT K277 AR — however in a case where there are
219717, then =YK 927 would admit to the 1121 that *»7 7"5772 X7 "7 >7%.

In summation: The 7mwn by having the nx791w %12 NPPn7 and not XAPYT 2"A0 27X, is
teaching us, not that they argue also *919°11 X2°972, but rather, that they argue only X>°972
91D,

mooin offers an alternative explanation:

PR K97 X377 XDD 29D RIMD 877 "1 °X — another explanation is; that X0
in 7217y, which implies that X"3 maintains that *»7 7"7373 3"737 °7X even
where there are °919°m, is according to Xp® 39 who maintains here in our

X3 that X"1 does not differentiate whether or not there are o1, and always
maintains that >a7 2"772 2" 278,

Appendix and Summary

MooIN in his question assumed that if the X773 in 1217°Y was of the opinion
that X"1 agrees that *219°17 X3°X72 it is a N°on1> and he argues only &3°772
519°17 then the X773 should have read4 M1 991D RIRTAT R ROV "309D 7137 O
T SDID RDORT2 DR °919°17 XDVHT K" DD XI0IW M2 RPITT 2P KR 29
71279, as shown in table (A)’

Table A
IXIDIW T2 V30D — RIPON RV 93099 R — X"
D107 N2 | 32127 RN 7'"'% | 92199 X2 | 99121 NOON 7'"'%
7" o975 X" | (@"2)a™ 7" X"
jakplamie aklamb A jaklami jakplamie 7129

? If the X1pon is that they argue only where there are no *5°m, the X3 seemingly should have said 17 °X

R'"'7 70 °DID 1 RDRAT AXDIW 8T "R K" 19D 091D RIWRTA PHRT KM Knhva s, See appendix.

* See nnX now , 2T W

> The differences between the X"17 and the X3pon are indicated by italics.
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However since the X773 in 7217 reads: 7327 399 9 X" X19Y2 390 M7 R
2" 1T D19 RDODT RDT DR 919°7 KIORT K27 »"'7 709V, This would seem to
indicate that the only change that the miwn accomplishes is that *919°1 X3°772
the 1127 still argue and maintain that it is a n°2»73, however as far as X2°X72
*919°1 1s concerned X' still argues and maintains that °»7 7"92 as in table (B).

Table B
XIDIW X2 V30D — RIPON KDY 73099 R — X"
D197 K27 | 2129 N2N 7'"% | 219 K2 | 99127 NOON 7''%
7" (RwR) M X" | (@"2)a" 7" X"
Foki/ale) jaklamb M| 27w -a" jakplamie 712

mooIn answers that we can nevertheless interpret the X723 to mean that X"
agrees *919°17 X3°X72 as in table (C).

Table C
IXIDIW X2 V30D — RIPON KDY 93099 R — X"
"D1D°7 R | 2129 N2N 7'"% | 219 X2 | 99127 NOON 7'"'%
7" o075 X" | (") a™ 7" X"
5975 noHno M| T -7 n"nas 712

The reason why the X313 in 1217°Y chooses to express the 171 of the mwn as
in tables B&C (even though it can lead to a misunderstanding in the opinion
of X"7), as opposed to table A, may be, because the X712 there wants to tell
us how wrong we would have been in interpreting the (X"91) 7127 had they
argued X¥n%¥2 2"77 >7¥2. This is best expressed by tables B&C, which
indicate that had the npY?rn been RnHy7 2"n7 *7%3, we would have thought
that the 13121 agree that *»19°17 X2°972 it is a 1"71. Had we learnt as in table A,
even though we would not be mistaken as to the final opinion of X"9, we
would not necessarily have been wrong, in the X"17, in regards to the opinion
of the 1127, therefore the w171 of the m1wn would be only concerning X"9 and
not the 13127. This way (Table C) however the v17°17 is for both X"=1 7127.

Thinking it Over
What are the relative merits of the two answers in NM901n?




